DowubleTake’

ULTIMATE GOLF CAR ACCESSO0RIES

O O
Q =o| |o= O
O""Q o
O =
© © UNIV SPL-1 KIT
(@] Club Car DS 2000+ (C2)
Vool lowd® EZGO TXT (TX)
oo cees (O) Yamaha Drive
O
LHO =—| o™ OrH
(@) (@)
© e (O
() (@)
(O ol |o =Q
= UNIV SPL-2 KIT
o o Club Car Precedent (PD)
O -® EZGO RXV (RX)
o NOTE: For Star
Q= of o «~© mounting, see pg 4.
o= Ho| |oRH ~0

UNIVEPSSIL SESTT HE/LGH T fFLNSTMHENTS

IMPORTANT: Do not fully tighten hardware until instructed.
Read through all instructions before beginning installation.

SEAT BACK PLATES INSTALLATION

TABLE OF CONTENTS:

Section 1 - 2-Passenger Plate Installation (For Star see pg 4)
Section 2 - 4-Passenger Plate Installation (For Star see pg 4)
Section 3 - Seat Back Cushion Installation

PREPARE CAR FOR INSTALLATION:

e 2P: Remove Factory Cushions
e 4P: Remove Top, Rear Frames and Seat Back Support/Sweater Basket
Assembly. Install DoubleTake® Rear Seat Kit.

NOTE: Save original Hardware for later use.

SECTION 1

for 4-Passenger installation,

2-PASSENGER

skip to Section 2

PLATE INSTALLATION

Club Car Precedent: 2-Passenger Factory Su

NOTE: The Seat Back Plates do not
work with Precedent Factory Seat
Back Supports.

orts

Club Car DS 2000+: 2-Passenger Factory Supports
Attach the Seat Back Plates to the Seat Back o] (o
Supports using a 1/4" x 1-3/4" FHP Bolt, a 1/4" Flat Q ol o O
Washer (back), and a 1/4" Nyloc Nut (2x both sides | © -0 [©.25©
through holes marked CC-DS). ol |©
. Aee 2 1C.a
NOTE: Fully tighten Bolts. © é)i“ o] o 0(3% o
O (@]
LHO = o[ |o™ GRH
Club Car DS

PROCEED TO SECTION 3

CAT-3: Universal Seat Back Plates | February 19, 2015 / Manufactured By Custom Golf Car Supply, Inc.

DoubleTake® Seat Back Cushion Install
(Factory Seat Back Supports)
Install Mounting Clips to the cushion back
where indicated (A). Mount Seat Back Cushion
to factory seat back supports the same way
the factory cushion mounts.

NOTE: Fully tighten Bolts.

Cushion

Seat Back
Plastic

www.DoubleTakeGolfCar.com



EZGO TXT: 2-Passenger Factory Supports
Attach the Seat Back Plates to the Seat Back

(@] (@]
Supports using 1/4" x 1-3/4" FHP Bolt, 1/4" Flat %:o O“';g)
Washer (back), and 1/4" Nyloc Nut (2x both sides — °8®E =
through holes marked TXT). of [&
NOTE: Fully tighten Bolts. t———) ©
O~o| |00
O== =0
O (@]
LHO = o[ |o™ GRH
EZGO TXT
e — "
-
V S
O (NupuELI;, ©
O, ©
PROCEED TO SECTION 3
Yamaha Drive: 2-Passenger Factory Supports
Attach the Seat Back Plates to the Seat Back ol (o
Supports using 1/4" x 2-1/4" FHP Bolt, Black %i oy e 5@
Spacer (A), 1/4" Flat Washer (back), and 1/4" oo C>0©”©
Nyloc Nut (2x both sides — through holes marked ol |©
Drive). oo © G»«oo o
Oen o
NOTE: Fully tighten Bolts. o~ |20
’/ LHO®—=T—T=5P%H
"/’/ Yamaha Drive

Mount /

to these W
holes

Edge of |
Seat Back
Plate

(A)
Spacers |

PROCEED TO SECTION 3

Seat Back Plates - Section 1/ pg 2

EZGO RXV: 2-Passenger Factory Supports

Temporarily remove the Bag Holder/ ol e )
Sweater Basket Assembly from the o= of |lo -o
Seat Back Supports by removing the Ce »O
6 Bolts (3 Bolts each side) as shown S
below (A). o e o)
[@n] (@}
NOTE: Keep Hardware for reinstall. O ol lo “©
G — O
EZGO RXV

Attach the Universal Seat Back Plates to the Seat Back Supports using 1/4" x
1-3/4" FHP Bolt, 1/4" Flat Washer (back), and 1/4" Nyloc Nut (2x both sides —
through top and bottom holes marked RXV).

NOTE: Fully tighten Hardware.

Install Seat Back Cushion (A) to Seat Plates (see Section 3 for example).
Then, complete your installation by reinstalling the Bag Holder/Sweater
Basket Assembly using the factory hardware (B).

NOTE: Fully tighten allBolts.

INSTALLATION IS COMPLETE




SECTION 2

4-PASSENGER PLATE INSTALLATION

Club Car Precedent: 4-Passenger DoubleTake Supports

Attach the Seat Back Plates to the front

_ ol O
of the Seat Back Supports through top C= Sl o >0
holes marked CC-P using 1/4" x 1-1/4" O ol e “©
FHP Bolt, Black Spacer Washer (A), 1/4" ol o
Flat Washer (back), and 1/4" Nyloc Nut. o ol [ o
Repeat for other side. a of e "
O= of |1© =Q
For the bottom holes marked CC-P use O~ Ho| |oRH =0
1/4" x 1-1/4" FHP Bolt, 1/4" Flat Washer Club P\ q
(back), and 1/4" Nyloc Nut. ub Lar Precedent
DoubleTake® Seat Back Cushion Install
(Use Seat Back Plates with spacer washers)
Car f
Rear
|
Car
—] Front

Black Spacer Washer
(Between Support and Plate
in the top holes only)

Factory Seat Back Cushion Install
(Use Precedent Tab Set - Seat Back Plates not required)

Attach the Seat Back Plates to the rear Seat Back Supports using 1/4" x
1-1/4" FHP Bolt, 1/4" Flat Washer (back), and 1/4” Nyloc Nut (2x both sides

through holes marked CC-P).

Rear Seat Back Plate Install

(No Spacer Washer Required) -
Car

Front

PROCEED TO SECTION 3

Club Car DS 2000+: 4-Passenger DoubleTake Supports

Attach the Seat Back Plates to the Seat Back
Supports (front and back) using 1/4" x 1-1/4" FHP
Bolt, 1/4" Flat Washer (back), and 1/4" Nyloc Nut
(2x both sides — through holes marked CC-DS).

NOTE: Repeat for Seat Back Plates on opposite
side of supports. Fully tighten Bolts.

Car
Front

Car
Rear

PROCEED TO SECTION 3

(@] (@]
O o yowe (O
Bl 1038
o O=o| [o 9FO
©en o)
(@] (@]
©=0 “l %= o
OO [@Xl©)
Ce >
(@]
LHO =~ |o™ ©RH
Club Car DS

Yamaha Drive: 4-Passenger DoubleTake Supports

Attach the Seat Back Plates to the Seat Back
Supports using 1/4" x 2-1/4" FHP Bolt, 1/4" Flat
Washer (back), and 1/4" Nyloc Nut (2x both sides —
through holes marked Drive).

NOTE: Black Spacers (4) are for installing on

Factory Seat Back Supports only (2-passenger).
Fully tighten Bolts.

Car
Rear

PROCEED TO SECTION 3

(@] (@]
(S = -

O e}
S g)m@ o 0%O
©en @)
(@] (@]

[Pt
°%.o| [o%°
r\() o () (7) eu@
O ==O
O (@]

> >n
LHOS=T—T="CrH

Yamaha Drive
Front & Rear

Seat Back Plates - Section 2 | pg 3



EZGO RXV: 4-Passenger DoubleTake Supports

Attach the front Seat Back Plates to
the Seat Back Supports using a 1/4"
x 1-3/4" FHP Bolt, a 1/4" Flat Washer
(back), and a 1/4" Nyloc Nut (2x both
sides — through top and bottom holes
marked RXV).

NOTE: Fully tighten Bolts.

Front Seat Back Plate Install

Attach the Rear Seat Back Plates to
the Seat Back Supports using a 1/4"

x 1-3/4" FHP Bolt, a 1/4" Flat Washer
(back), and a 1/4" Nyloc Nut (2x both
sides — through the upper set of holes
marked RXV).

NOTE: Fully tighten Bolts.

Rear Seat Back Plate Install

_ o O
Qe O
(@] (@]
C= O
O (@]
O (e}
(O =©
[@n] (@}
O= ol |[© =Q
€ tHT R PO
EZGO RXV Front

_ (@) I [en}

o= e)
(@] (@]

e o)
O (@]

@ (@) O
[@n] (@} =0

G »O

O Ho| |oRH -0

EZGO RXV Rear

PROCEED TO SECTION 3

Seat Back Plates - Section 2 & 3 | pg 4

EZGO TXT / Star: 4-Passenger DoubleTake Supports
Attach the

ol o i o

Front Seat 9 -o| |ong O= ol lo =0
Back Platesto | © 7 ué© 0" ol |lo ~Q
the Seat Back ol |© - of o =
Supports using | cee—=t—0 © O ol = -0
a1y | nol [0 | | e
FHP Bolt, a 1/4" SIS . - "

g LHO = = CRH| |O= Ho| [oRH =©
Flat Washer o =
(back), and a EZGO TXT Star Front & Rear

Front & Rear (Holes are not labeled)

1/4" Nyloc Nut
(2x both sides — through holes marked TXT).

NOTE: Repeat for Seat Back Plates on opposite side of supports.
Fully tighten Bolts.

TXT Pictured

SECTION 3

SEAT BACK CUSHION INSTALLATION

All Car Models

Mount the Seat Back Cushions to the Seat Back Plates (Club Car Precedent
shown as example). Install the Threaded Studs (4) into the Seat Back Cushion
where indicated (A). Determine the Seat Back Cushion height preferred and
mount Cushion to Seat Back Plates thru corresponding slotted holes (B).
Secure the Cushion using a 1/4" Flat Washer and a 1/4" Nyloc Nut (2x both
sides). Repeat for opposite Seat Back Cushion.

NOTE: Fully tighten all Bolts.




